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Biology p1, p2&p3

20.
21.
22,

(a)
(b)

23,
24,
25.
26.

27.
28.

29.

30.

31

32.

What is the significance of seed dormancy? (3mks)
State two advantages of metamorphosis to the life of an insects. (2mks)
Potato cylinders were weighed and kept in distilled water overnight. They were then reweighed.

At the beginning At the end

2.5g 24g 2.7g 3.0g 3.1g 3.2
Calculate the average mass of the potato cylinders at the end of theexperiments.
(Show your working). (2mks)
Explain why the mass of the cylinders had increased. (3mks
Explain why the garden pea plant was preferred by Gregor Mendel in his crossing experiments. (3mks)
Give two structural differences between DNA and RNA molecules. (2mks)
Name two substances that are excreted through diffusion process in plants. (2mks)
(a) Arrange the following nitrogenous waste products in order of decreasing toxicity:

urea, uric acid and anunonia. (Imk)

(b) Explain why desert animals excrete their nitrogenous wastes in form of uric acid. (1mk)
Name one waste product that is transported in the blood but not removed by the kidneys. (1mk)

A student collected a plant with the following features:
Vascular bundles in the stem were scattered with no cambium.
Fibrous root system.

Name the sub-division and the class to which the above plant belonged. (2mks)
Sub-division

Class

Write the kingdoms to which the following organisms belong. (3mks)
Plasmodium

Bat

Yeast

The wings of a bird and that of insects are analogous structures.

(@) What are analogous structures? (2mks)
(b) Name this type of evolution. (1mk)
Name a vestigial structure found in:

(a) Man. (Imk
(b) Whale. (1mk)
(a) Name the hard body covering found in organisms of thephylum arthropoda. (1mk)
(b) Give two uses of the structure mentioned in (a) above. (2mks)
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